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ög
li
ch

ke
it

,
d
as

P
ol

y
n
om

1
9 3
x

2
−

1
9 3

au
s

(x
−

1)
(x

+
1)

u
n
d

(2
x

2
−

2)
li
n
ea

r
zu

ko
m

b
in

ie
re

n
?

5.
B

e
is

p
ie

l
[9

08
11

6]
:

S
in

d
d
ie

V
ek

to
rr

äu
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ü
ßt

e
au

f
d
en

”S
tr

ei
fe

n
”,

ge
ge

b
en

d
u
rc

h
d
as

ka
rt

es
is

ch
e

P
ro

d
u
k
t

[n
π
,(

n
+

2)
π
)
×

IR
,
m

it
n
∈

ZZ
re

d
u
zi

er
t

w
er

d
en

,
d
an

n
w

är
e

F
ei

n
ge

sc
h
rä
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ü
p
fu

n
gs

ta
fe

l
au

f,
in

d
em

S
ie

al
le

(f
al

ls
Ih

n
en

n
ic

h
ts

B
es

se
re

s
ei

n
fä
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ü
gl

ic
h
⊕

is
t

a
d
as

N
E

E
le

m
en

t;
d
ie

E
le

m
en

te
a

u
n
d

b
si

n
d

je
w

ei
ls

zu
si

ch
se

lb
st

in
ve

rs
.

A
ls

o
h
at

S
d
ie

S
tr

u
k
tu

r
ei

n
e

ko
m

m
u
ta

ti
ve

n
R

in
gs

.

7.
B

e
is

p
ie

l:
B

ez
ü
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ȳ

3√ 3
+

z̄
3√ 9)

=
x
x̄

+
x
ȳ
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zȳ
3

+
zz̄

3
3√ 3

=
x
x̄

+
3y

z̄
+

3z
ȳ
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fü
ll
t)

.
B

ez
ü
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ü
lt

ig
ke

it
d
ie

se
s

A
x
io

m
s

lä
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ü
b
er

IQ
.

6.
B

e
is

p
ie

l:
D

ie
M

en
ge

d
er

F
u
n
k
ti

on
en

f α
b
il
d
et

b
ez

ü
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ü
p
fu

n
g

u
n
m

it
te

lb
ar

ev
id

en
t.

D
as

N
E

la
u
te

t
f 0

(x
)

=
e0

x
u
n
d

f α
is

t
zu

f −
α

in
ve

rs
.

A
ls

o
b
il
d
en

d
ie

se
F
u
n
k
ti

on
en

b
ez

ü
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rü

ft
m

an
b
ei

sp
ie

ls
w

ei
se

fo
lg

en
d
er

m
aß

en
:

k
·(

f α
⊕

f β
)

? =
k
·f

α
⊕

k
·f

β

k
·f

α
+

β
? =

f α
k
⊕

f β
k

f k
(α

+
β
)

=
f α

k
+

β
k
.

S
om

it
b
il
d
en

d
ie

F
u
n
k
ti

on
en

f α
b
ez

ü
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äc

h
st

e
U

m
fo

rm
u
n
gs

sc
h
ri

tt
:

n ∑ k
=

1

(µ
k
+

γ
k
)x

k
=

n ∑ k
=

1

(α
k
+

ν k
)x

k

n ∑ k
=

1

((
α

k
+

β
k
)
+

γ
k
)x

k
=

n ∑ k
=

1

(α
k
+

(β
k
+

γ
k
))

x
k
,

w
om

it
d
ie

A
ss

oz
ia

ti
v
it
ät

d
er

A
d
d
it

io
n

li
n
ea

re
r

F
or

m
en

au
f

d
ie

G
ü
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ü
ll
e

d
er

ge
ge

b
en

en
P
ol

y
n
om

e,
d
en

n

L
(x

+
1,

x
2
,x

3
−

1)
=

{a
(x

+
1)

+
bx

2
+

c(
x

3
−

1)
|a

,b
,c

∈
IR
}

=
{c

x
3
+

bx
2
+

a
x

+
a
−

c
|a

,b
,c

∈
IR
}.

6.
B

e
is

p
ie

l:
N

ei
n
,

d
en

n
d
er

V
ek

to
r

(0
,1

,0
,−

1)
∈

V
is

t
b
ei

sp
ie

ls
w

ei
se

n
ic

h
t

al
s

L
in

ea
rk

om
b
in

at
io

n
d
er

V
ek

to
re

n
(1

,0
,0

,−
1)

u
n
d

(1
,0

,−
1,

0)
d
ar

st
el

lb
ar

.

17

L
ös

u
n
ge

n

L
in

e
a
re

A
b
h
ä
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lö

st
.

a)
W

ir
ze

ig
en

,
d
as

s
d
ie

se
n

+
1

V
ek

to
re

n
li
n
ea

r
u
n
ab

h
än

gi
g

si
n
d
:

λ
1
(1

)
+

λ
2
(1

+
t)

+
λ

3
(1

+
t
+

t2
)
+

..
.+

λ
n
+

1
(1

+
t
+

t2
+

..
.+

tn
−1

+
tn

)
=

0.

N
u
n

so
rt

ie
re

n
w

ir
n
ac

h
P
ot

en
ze

n
vo

n
t:

1(
λ

1
+

λ
2
+

..
.+

λ
n
+

1
)+

t(
λ

2
+

λ
3
+

..
.+

λ
n
+

1
)+

..
.+

tn
+

1
(λ

n
+

λ
n
+

1
)+

tn
λ

n
+

1
=

0.

D
ie

se
G

le
ic

h
u
n
g

m
u
ss

id
en

ti
sc

h
in

t
er

fü
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lö

se
n
d
e

G
le

ic
h
u
n
gs

sy
st

em
la

u
te

t
n
u
n
:

λ
1
+

λ
2
+

λ
3
+

..
.+

λ
n
+

1
=

0,

λ
2
+

λ
3
+

..
.+

λ
n
+

1
=

0,
. . .

λ
n

+
λ

n
+

1
=

0,

λ
n
+

1
=

0.

A
u
fg

ru
n
d

d
er

D
re

ie
ck

sf
or

m
d
es

G
le

ic
h
u
n
gs

sy
st

em
s

lä
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